In Scrabble, each player chooses 7 letter tiles. The 100
tiles of the original game are in the distribution shown below.
(There is a newer, deluxe version from 2004 that uses 200
tiles, but we will be using the 100 ftile version.)
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This distribution of letters has not changed since Alfred Butts invented the game in 1938.

Now, answer the following questions (give answers as
fractions, decimals and percents):

1) What is the probability of choosirg an E if no tiles have been
chosen?

2) What is the probability of choosing an "M" if 28 tiles have been
chosen and 1 of them was an M?

3) What is the probability of choosing an “X" if 42 tiles have been
chosen and 1 of them was an X.



